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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-A

Question numbers 1 to 10 carry 1 mark each. Out of four given options choose the correct
one.

1 1
The value of 72 82 is:

1 1 1
(A) 282 (B) 562 (C) 142

mis:
(A) a rational number (B) an integer

(C) an irrational number (D) a whole number

If (x—1) is a factor of p (¥) =x2+x+k, then value of k is :
(A) 3 B) 2 © -2

Zero of the polynomial p (x)=cx+d is :

d
C

(A) —d B) -—c ©

If the point P lies in between M and N, C is the midpoint of MP then :
(A) MC+PN=MN (B) MP+CP=MN (C) MC+CN=MN (D) CP+CN=MN

In figure 1, if OA=0B, OD=0C then AAODZ= ABOC by congruence rule :

C B

Figure 1

(A) SSS (B) ASA (D) RHS

In AABC if AB=BC then :
(A) ZB> /C (B) LA=/C (D) ZA< £C
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If two supplementary angles are in the ratio 2 : 7, then the angles are :

(A) 35°, 145° (B) 70°, 110° (C)  40°, 140° (D) 50°, 130°

In right triangle DEF if ZE=90°, then :
(A) DF is the shortest side (B) DF is the longest side
(C) EF is the longest side (D) DE is the longest side

In the given figure if PQ||RS then the measure of m is :

P Q

»
>

27°
Figure 2

R
(A) 110° (C) 90°

SECTION -B

Question numbers 11 to 18 carry 2 marks each.
7 -
2 _362
Evaluate

-5
(36)2

Simplify : (3 + /3) (2 + ﬁ)z.

Evaluate (104)3 using suitable identity.

1
If a point C lies between two points A and B such that AC=BC, then prove that AC= EAB'

Explain by drawing the figure.
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If the angles of a triangle are in the ratio 2 : 3 : 4, find the angles of the triangle.

In figure 3, X and Y are two points on equal sides AB and AC of a AABC such that AX=AY.
Prove that XC=YB.

A

Figure 3

OR

In figure 4, ABC is a triangle in which altitudes BE and CF to sides AC and AB respectively
are equal. Show that AABE= AACF.

A

C
Figure 4

Name the quadrant in which the following point lie (=3, 2), (4, —3), (=5, —4) and (3, 2).

In figure 5, if ZPOR and ZQOR form a linear pair and a—b=80° then find the value of
a and b.

Figure 5
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SECTION-C

Question numbers 19 to 28 carry 3 marks each.

-3 -3

o (81)4 |(25Y2  (5)°
Simplify 16 9 YL

Simplify the following by rationalising the denominator.

7\/3 — 52
J48 + /18
OR

3 -1

X~ —a+b3
If 5B 11 , find the value of a and b.

x3

OR

1 1
If x + = =7 then find the value of 2o+ —.

If x — — =3 then find the value of x> — %
X

= p
Express 3.425 in the form E where p and q are integers, q= 0.

If a2+b2+c2=250 and ab+bc+ca=3 find a+b+c.

In figure 6, ALMN is an isosceles triangle with LM =LN, and LP bisects Z/NLQ, Prove that
LP|[MN.

M N
Figure 6
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25. Infigure 7, find the value of x.

A

AL 2l/AN'q
Figure 7

OR

In figure 8, if AB||CD then find the value of y.

C D

i —_
< >

@)
407

Figure 8

A triangular park in a city has dimensions 30m X 26m X 28m. A gardner has to plant grass

inside the park at Rs. 1.50 per m?. Find the amount to be paid to the gardner.

Show that in a right angled triangle the hypotenuse is the longest side.

Plot the points (x, y) given in the following table on the plane, choosing suitable units of
distance on the axes.

-2

8
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SECTION-D

Question numbers 29 to 34 carry 4 marks each.

e L R

(a-b)> + (b-c) + (c—a)

Simplify

For what value of the polynomial 2x3+ax?+11x+a+3 is exactly divisible by 2x—1.
OR
Without actual division prove that x*+2x3—2x2+2x—3 is exactly divisible by x?+2x—3.

In figure 9, if AC=BC, /DCA= ZECB and ZDBC= ZEAC then Prove that BD=AE.

D E

C
Figure 9

Factorise x3—23x2+142x —120.

In figure 10, if AD is the bisector of ZBAC then prove that :
i) AB>BD (i) AC>CD

A

D
Figure 10
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Prove that two triangles are congruent if any two angles and the included side of one triangle
is equal to any two angles and the included side of the other triangle.

OR

In figure 11, OP bisects £ AOC, OQ bisects ZBOC and OP 1. OQ. Show that points
A, O and B are collinear.

Figure 11
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W ug - A
U9 WEAT 1 9 10 Tk Udeh U9 1 3iek T g1 fou 7w 4 fasredt o 9 e @@t fasmeq i

1 1
72 82 HIHNT :

1
(A) 282

Tk
(A) wfa den @ (B) Ul €
(C) eTufeiy ¥& © (D) Ui HEm

Qﬁ(x—l)a'g"qﬂp(x)=x2+x+kEFT'@UH'@€'%ﬁquﬁ%:
(A) 3 (B) 2 < -2

a@qﬁp(x)=cx+d7ﬂ5ﬁ%:

d
c

(A) -d B) -—c (©

I fagPlag M RN F da & fem g iR MP A fag Cc e a -
(A) MC+PN=MN (B) MP+CP=MN (C) MC+CN=MN (D) CP+CN=MN

ampfa 1 ®, aff OA=0B, OD=0C @ AAOD = ABOC TaiTdH ¢ :

C B

A D

Tpfa-1

(A) SSS
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AABC ¥ afe AB=BC I :
(A) £B> /C (B) £A=/C (C) ZA=/B (D) ZA< /C

Ife 21 Y IV HT STAE 2 : 7 F A 01§
(A) 35° 145° (B) 70°, 110° (C) 40°, 140° (D) 50°, 130°

T WHHI ADEF § afg LE=90° 1 :
(A) DF Hed BT 411 | (B) DF Herd Tt eT § |
(C) EF Tod ofwsll [ T | (D) DE 9o¥ owsit =T ¥

T 7 epfa H Afg PQRS d m 1AM 7 :

(C) 90°

Qug -
U9 WEAT 11 § 18 Tk Uk U9 2 3Tkl T T

7 -9

362 — 362
WA & :_TQZ—_S.

(36) 2

7 BT < (3 + V3) (2+ V2.
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ST HeHIHeRT T ITAN ek (104)3 T T H1d RIS |

aﬁaﬁgaﬁAaﬁtB%aﬁawﬁgctwﬁ%%ﬁﬁACﬂc%,?ﬁﬁqn—gaﬂmﬁAC=%AB,
3T Gl 38 TR HIfWT |

Ffg fAS % IV T ST 2: 3 : 4 T AN HIVT I F1q HIFC
3Thfa 3 §, AABC &1 ®AM =sli AB iR AC W %A T fog X 3R Y 30 y=hR fee € f&

AX =AY fgg =ifsw f& XC=YB.

A

C

Thfd-3

YT

Hfd §, ABC T fys & f5re8 AC 3R AB W @i+ 7 vitefa %ue: BE 3R CF sXER €, quigd
f& AABE= AACF |

A

B C

SThfd-4

3| =gt & T fafen faed freafaftaa fag e €0 (=3, 2), @, —3), (=5, —4) 340 (3, 2).

940109 - A2




s3tpfa 5 8, afe LPOR 3R £ QOR U ¥f&® IrH 91 § d91 a—b=80° @ a A b HT TH A
HifeTT |

Qug - 4|

U9 WEAT 19 § 28 Tk Uk U9 3 3Tkl T T

-3 -3

s 3 5 -7

16 9

7\/3 — 52

YA

wﬁi%w +by/3 @ aqe b F T @ HIFAT

1
uﬁ;'x+;=7?ﬁx3+i3aﬂuﬂamﬁm|
X

AT

A x — L =3 & O —%wmamaﬁm|
X X
3.42§aﬁ§éamﬁwaaﬁmaﬁpaﬁiqwﬁﬁ%‘amq¢m
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Ife a2+ b2+ c2=250 3 ab+bc+ca=3 @ a+b+c I HifST|

3T fa 6 H, ALMN Ts HAfgamg 519 & f5® LM = LN, 991 LP %101 NLQ &1 FAfgafSd *dm €
fas =T f LP|MN |

Q

M N

FA- 6
3T 7 H, x ST 9 A1q HITT |

A

45° 50°

#THfd-7

B C

3teran
TRfa 8 #, AT AB||CD ¥, @y 1 A 1A HiToT |

S D

45°
@) Yy

40°

TR {d- 8

26. T TASTRR Ik T oML 30m X 26m X 28m T | IEt 1 STH =H I € 9T <X 1.50 T3 9fd
o HieX &, d "elt Sl A fohas T < B |

27. <9IEq foh guerio s ® ol ged st o 2t B
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28. &l W U I TP Tehh kT Ao TR0 | U T forgsti &l 9o W aAeifad wifs -

@ ug - g

U9 WEAT 29 W 34 Ak Uk U9 4 3ihl T T

e e R

(a-b)’ + (b-c) + (c—a)

A HIWT :

a & T8 A9 & faT 9898 223 +ax2 +11x +a+3, (2x—1) ¥ qoiaan fawsa gl

AT

frd fom fag wifST amedar 9 fawifsd fof g ot + 243 — 242+ 2x — 3 9gUS 12+ 2x —3 © o
faurs &1

aThfa 9 ®, aff AC=BC, /DCA = £/ECB 3R /DBC= /EAC ¥ @ fag ®ifSu f& BD=AE.

D E

C
STHTd-9
TUAES HIT : x3 —23x2 +142x — 120,
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3T 10 H, AfE AD 191 BAC &1 YRGS &1 a1 fag wifee fF -
i) AB>BD (i) AC>CD

A

B C

D
3RTd-10

g #IfT i 1 By Faimem 2 €, afc T B & < i1 3R STt STwrta ST g 1S &
T I 3R SAHT ST ST & SRR & |

areran
3T 11 H, OP &I AOC 1 FHIGHNIF §1 OQ %I BOC 1 FHGHN ¢ 41 OP | OQ T9Iisd
& fog A, O 3R B W@ |

Q

940109 - A2




